Residual versus local y

o
=
ol

Residual (cm)

0.1

0.05

-0.05

-0.1

— — @ —— 1esXT025GPst_physics_6035027_raw_3040006_4.root ss (0,12]
- — @ —— resXT025GPst_physics_6035027_raw_3040006_4.root ss (12,24]
B ———@——— resXT025GPst_physics_6035027_raw_3040006_4.root ss (24,36]
— ——@—— resXT025GPst_physics_6035027_raw_3040006_4.root ss (36,48]
- o
- o ® o

L ) 9
[ . Y - % .......... PO SPSPOURRRPOOROOON OOOONS 0.382% .. 0. . F 4
ey o 74 &g
) ® PP o ° o0 %
- [ .;‘..
B I 1 1 1 I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1

60 80 100 120 140 160 180

Thu Feb 10 22:30:45 2005 Local Y



